PU=tx1,393/(T-60)
t — time in minutes
T — temp in minutes

time of

pasteurization Jtemp Celsius 15 78
[minutes] '
1 46 0,01
2 47 0,01
3 48 0,02
4 49 0,03
5 50 0,04
6 51 0,05
7 52 0,07
8 53 0,1
9 54 0,14
10 55 0,19
11 56 0,27
12 57 0,37
13 58 0,52
14 59 0,72
15 60 1
16 62 1,94
17 62 1,94
18 62 1,94
19 62 1,94
20 61 1,39
21 60 1
22 59 0,72
23 58 0,52
24 57 0,37
25 55 0,19
26 54 0,14
27 53 0,1
28 50 0,04
29 47 0,01
30 40 0

20 PU its good enough for beer

pasteurization units

alc value %

0

alc value

BLG pre ferment
BLG end ferment



	Pasteryzacja

